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PART I QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

r
1. 'Which of the following is equivalent to ‘-/ { by + 7) i
| = Disteibute  uwhih

‘-/(éx) is 24x 24 x +2B means mu”"?l@

' Eoth - pects
y(7) is 238 s P
LAt X \
2. Which of the following is the value of the expression : when x= - C]
Sulbs cfuk '
-4+ "‘q - 3 ’q ¢ = '2 .

distimic 4 4

3. Ifthe expression &+3x is equal to 42 for some value of x. Does x = 8 7

3 2+5(8) \

H Is
;-l‘qLO yes equa_
4, Ts binomial =7+2Zx, equ;m!en’r 2x-1 ¢ jeS, )%y e Gmpubotive

' - - Propetty
The ordex  Con cﬂ'ﬁ’”f)e' ' '

5 Fill ia He Hlan K 3)(+')<+.__,. = qX

4 + — = 1x

. | /
- X+X+X t % | s beak shoild be  Sx .
- dx % '
- L\ Uy +3x% =Tx jeS

C 4% "314"‘



s and Px-l (s

b - % +9n =1 | ,
—x +9d% + 6~ C()mmu—‘\‘ﬂ—'\‘\d( ?m?ef*j ._
L— - |
% + S ' -ngﬁ\\,;,‘; Like Teams (CLT)

. The Sum D'C

7
. Which of the following equations illustrates the J}‘s‘r}lﬂ“"eproperty (M'\J commu Tatve PfOQ’e(jj .

’ZCX) :—"’2& ,Z +5 = X -2

Drstributive Commmtrioe |
() ore ‘30“'1 e ordex c’"“"ﬁ

. Which of the followingis: 3 ( —&x )

‘-|% X d;g-ﬂ-r;bw‘\'e—

/X,
. The expression o X) + 9%+ 3 is equivalent to each of the following -
( ) : ‘ gistribuie
Zyx +Sx 3
L oo bine Live feRMS
Ix 3 '
10. When written in simplest form the expression, ‘I( —lox ¥ 7) -+ 3( g - X)
| pistabu
24 x +2% F 24 -3 -
cm Mﬂ-&’\‘.\\g

__2\{)(_- gx -t-L% '\"2}\

“2Tw + % Com bies

[_\\Le.‘._'\ﬂ—(ms
- 3 B -
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PART 1T QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

e

\'il.Filld the Sum of -2%  with B in simplest form.

BN - 2%
LX

| essic n- 5) |
12. If n represents a number, simp‘i% —-}ﬁ_e, C}lﬁ)f‘-"‘ssf " ( egaﬂdi HmeS
negatrv&
-Ya + 7_0 K
B+
whenxz —’f

13. Which of the following is equivalent to the explessmn

| %,,'_C_u‘) "6;"‘ 1y
) A ———Z“" s ,__?-:— ¢S =3 LS Z_

Paxrt I[N QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

14. Which of the following properties justifies the equivalence: Deline 'fﬁe answeR .
3+n=n+3 and é(X) b.x
. _ -H Je
. "
Qomma et 7 Dﬁﬁl e 9°V°
Ofder chang ' C) o

‘L-P
.Y X __7 "”5 for some value of x, is it true when x = =

3 7 Shw sq bstitufion,




16. Of the following, which are equivalent?

5 1on=p-T ok B(x+i) =32

-

By e disribubiox Pope

Cf)mbme, i ¥e -fc,QMS,,-@a The eypress?on \ _ﬁ,%x - SX + 7
\p €
Cor - =Bx +77

17.

PART IV QUESTION: Answer the question in this part ,. 6 how Uw{ wer ¥,

. )1 8. What is following step to simplify the expression.? _
‘Bxpression U[ WB(H W - f) —|— i (SX - Z) . ’)fe, o[is.(_(\:bw\—t’d? Proeef\'j
sep#l = |2% +3 + 3Sx -1 Yo e () ore g,
12y #3SX + 3~ Commmiatie proge ¥
L L— UP\M)@S e order.
23%x —I\

jgm@];&eo)'

19. Simplify the problem above.
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PART I QUESTIONS: Answer all questions in thls paxt by writing the choice of the appropriate answer in the
blank beside the problem. Please show all of your work.

1. Which of the following values of x is a solution to the equation - "’( X - 3) + 8 = é 8 '
(X e b istrlude

Hy-12 +8 = 63
e LT

/ - 63
y® “W[;”ql vy AddiHon -

= 12
4 X sy Diulsion

+4
Solve He Foo Skp-e?aa:ﬁm % +9=-7 .ﬂh o
T ~S) =5  Sublrck gppenite o adl

= =12
| (- 9 MHH’Q‘J cp‘,ds}k. of Ji\lﬂ&‘

¥ = Y9

3-..wfi_'kﬁ&.,|'u. e }‘\*Z?Mﬁ*‘j L\}‘an .'K—; —Z.
uz __'
| = R X &

X' L , A
A -3 X2 -Z O X > -3

4. Tweo times the sum of a number, n, and ¥ is at Most 0. Which of the following inequalities properly

models this statement? Wride ./—,f\ s Statrmen +,
4 most ©®
T O £ means lessHhan

—

- 2 4
§n</) 7z Meon$ 3req4€"~+9\*“
£ peans [ethan on equal fo

' Hmey Sum of na.nJ'-f
z Means 3m-kf‘ffmn ora?ux,”o

\ - 7A-
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6. Max correctly starts solving the linear equation, 3 (X +7): -? writing Y +7 =~ 3 Which of the following

properties justifies what Max wrote? —3 +3 / ,
X+ T1=" 3 MA)C ojiol o‘iw‘&‘on

6.  Which of the following graphs shows the solution setto 5 x—- 123

Groph Hhe soluf®n . wne 47 47

_ or

Ix > IS C[oSeJ cirele
' >diues!on +3 =3

’
- x»5 why.

7. Thevalue ¥=8_is a solution to each of the following, except which?

)

(9) "J 7 3(%) ;)((g) +3> = 4(s)-1°
y»> e a(n) =32 ~/°
ok a jution =
ND, FAISC ot Se e \/C5) Teue | 4 is & so lution

. 8. Plato was saving _ ’ D each week in order to have enough money for a phone that costs #150, 1f his father
started him off with¥® 0 Which of the following is the minimum number of whole weeks Plato will need to

save? Weil an eﬁ[u.a-'Hﬁr_\ and  Selue. Let x = 7Re minimum number
of weeKs

P/a,h nee,cls{o /Ox +30 = /50
-~ Jo ~Qo  Subleeliw

- Shue for 13 weeks,

fox = 130

~ (o -~ (o bfdf! fon
- ) )
N X = 13

....78.,
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' \?ART T{ QUESTIONS: Answer all questions in this part. Please show all of your work.
9. The Uq‘gm. ofa Cﬁ’“%s given by the formula \/=:‘3' 7k Solve this equation for the height,vh _in terms of Ve

(3) (3) mu IHp I cation
3\] = TUZL

- : .
Tt T Juisien

3 J . ‘oo |
—_— = Solue -Qaa h, His by el
.is equal to /8.

10. When a number, ¥ is increased by 4 ) and then the result is maH'/p!uJ [)d_é_

Write an equation and solve it to find the value of . X,
> G(X +'-I) =13
Jislsion

wry) =18
e =18 g, 0L A
- b x w24 =
-2y —2M x4l = 3 \
é - - — -y S“bh‘ac‘flﬁn
11. Justify your responsg, 1s the value X= -4 a solution to the inequality Sx -3 >fox
} SubsiHution 5(—‘-}) -3 > é(_q)
L oL e 1":Pp‘ole.m
-Qo -3y 7 -ay

_33 > -a4
yes, 'Ti'u.e.) i+ Is a Soludon

12. Solve the following equation for x. Show the manipulations that lead to your ﬁnp{i answer.
.\..

AW onfy+ on = in
] ( .X-+'3L)..-n—' I +4 = (x - SS' +(X—3)

Dr shrdlpue
0 Tx 4™ - 3x+d = X 75+ X -3
cL oYy x + 13 = 2x -3
- - X
Sub ruction Lx
= -3

ax 413 =

) Su\:‘i‘ru_‘-hn - % - |3
/

ARV
. __:_a

1ofSion
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\13. Algebraically solve the inequality, 5_)(_“)‘7‘% é‘" 9/3>< _'.Q) D vt bute /”je,i?fﬂ.

Sx -1¥6 & -2Tx ~I8
+37x ” ) —f-9.7x additon

3ax -J4b 4 13
+idb AL AddiHon

T3ax & 133
+3a <33

o fo
. _ ) X 4 Y Closed ble eqw
14. Graph the inequality from #13 on the number line. E_:l Lf-("{' H e Less

et 14—\——(—4—(3—H—H~v—+4'~>
T T T L - _ I B —

Diotsion

210 -5 0 5 1077

15, Give a property of real numbers or a property of equality to justify each step in the solution of the equation
"}  shown below.

+

| Hx -K_T Ax +l=37

I '"‘*(ém@'-m.‘de. (Chﬁ"\'jt‘) °")"")Step1,‘ - y "
T ¢ +Ax ~F+1 ="
= T Conbine e deans (CLTY step <x=3

éX - & -
N T T Adidon Postulete _ 'Step3 T 7 ' 37
T o ._ﬁé)f._?f"go
ST T T Diitsion Postlate  Step 4 '
_X= =5

16. Solve the following multistep equation. __-_’_3 % :J’"., = ~dd
- i 4y + Yy 4ddiHion

“3x =-13
< =3 .3 Divisien

X = 6

- 3R-
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PART I QUESTIONS: Answer all questions in this part. Show all of your work.

1. H‘g(X) Sx42 and

S+u03 Guide .

__then which of the following is the value of . j ( é_) o_mJ -{3( ‘5)

£6)=x -4 7 7
3(‘_6)35(‘6)?'2- _’P(-S):(—S_)'.-H :z: MSC’ (adoR Subsi[h‘uk Sbstrdk
-4) =-30+2 g =5 - ¢ Cafowt® m"“
(-6) - o fLsy =254 Eater whatis often ]
m +Pue etiom.l 5:7

2. If a function is defined by the formulaak)‘ i X:= Q and its domain is given by the set

whdh of the following sets gives the function’s range 4
Suwkshiute o ﬂ ‘f[“g . ff‘"("f) -

Y
R = =] -2

- L——" a\\ o'c- “(“‘0-5( ?O|n"’5 ars OA'\"BQ— Iﬂ(’-—

-8,-4,0 q'g”_ﬂ_
Z (o) z\

3 r -3 _ ___gcanwm . q 7"9—&
T

3. The distance, d, that a car has traveled, as a function of time, #, is given in the table below. What is the average

} rate of change of the distance over the interval 4<7<10 «— yse fhege flumbers

S

d (miles) | 0 ___m,"_ 1se A7) '333\&;9;!3_3,‘
t (hours) 0 o M. ér ¥ L b

ij " H3-1s0 mides ¢ +318

hows

+o <M%>m\e~s houts |

[ W ' 9 o Jefermine Hhe

0’(‘3“'&!\6‘- find +ﬂe_ :
Number of hours

dugin Me. 3206!1
iukfzal

4. For the function b(x) shown graphed below, over which of the following intervals is }j S O
o ! ah
. . L 51 - S X ' - TLesﬁ OR n'\xo
—— —- . k15 ‘l(“‘) . —5 - JeqW
e e ] _ ‘ 4 X i N
oo - - N <
_ /’ R
:ize - "f‘q Pa.("' mC ‘]“RQ ﬁN-P\‘\
) “ B LT ' below Hhb X - ANGS.

(-',O)
-

o
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5. For the function defined by f (x) = %x)(:l' ] i jg which of the following represents the value of | b ((,) ?
- Fle)= 3(6) -t 1 Shosl g substible. inte He. Hop or botem 7
: ) 5
£(e)= % - S ;:L ‘;‘W\aw wha ? boHom because 62> 5, _
: 3 : - Ta ceadey
'F(fo) = | 7 3‘;(:& eﬂi

6. For function g(x) graphed below, over which of the following intervals is g (x) ;@asjrg

X

_‘ , Tz | pzm Left to rfjH“
-| ExTe ___-—-Li y 4% X the 3%?‘" should
» n N

G e et
xq X Y EEEEAS

7. Given the graph of the function f(x) shown below, which of the following intervals represents its o'om an

e Jort® 4 ,)y 1  define domain: rf’ explains hew -
L_a - 2 - ‘ , (O %8 w}JQ “{'B\Q 'ﬁ(nb#()n s oﬁ o\'?‘r'\'-p‘i .
:P - -~ 7 __-Pﬁ - H 9 m%.)x whad is He dillocence between
"MLQ',@'\'—“' right : ] an open cele and o " Closed -

Cic e ?\excluJeJ, 5{,_,96(J

7 i e Jom““fé_-
8. A function is initially defined by the set of coordinate pairs '{(-—2 ,8), (3,43, -3}}.Which coordinate pair

below, if added to this set, prevents the set from representing a function?

N il =a S

9 -5y Explainwhy? L made the X values repent.
""_( - ) ov\ —, -— So, W ig ot o Qunclon .

am——— ;

Defne o montfinchin 7t has Fepeating 2 \alues
. any . I ——.."-F_ a .
(2 2) R/ A
9. If the function h(x) is defined by h(x) =3 then which of the following values of )_(_Sn\ves the

equation h(*fl) | | b (_lz) - %-,,2) z_' - % k(})

()= -3 T
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PART 11 QUESTIONS: Answer all questions in this part. Show all of your work. A lse boro

10. The function f(x) is shown on the graph. What point does ) represent? Cid%his point on the graph.
K o~ 4
%y F0¢) *

( - _\7 _ "S .
) -l |-5
11. What point(s) does the value of f(x) =~[represent? Fox 4he point(s). Rei
[——_‘_/J&/_ﬂ . \r
S A S , 5 1 f0%)
Tyl (2,20
: _ ) T n ) 31
_____ o e e e e e 3 \
12-13. Do the following graphs represents functions? Explain how you arrived at your choice.
\!LT hy A \JLT
/:\ (' ) 1 ) A

‘:.:_ xlruz”“nﬁ ) \/:i/x |

|
A £ " <__”7__ o
.‘ R IR 4
)l\ \‘/ v /‘ ¢ Vv
Sous o ton-fonkion + drans” & funchon =
Explain: [ elpeuﬁ r\(j X valaes Explain: VLT has on\‘} ont Po‘w\'.

X values do not redaeac\--
PART III QUESTIONS: Answer all questions in this part. Show all of your work.

14, Two functions, f(x) and g(x), are given below. Determine which of these functions has the greater average
rate of change over the interval ] € X & 3

v J
Thelax te of change|shows ...
S : . ‘ gx)| ot &yl 8]l |34j68]
x - 300 — -
---""L—_
N
[

S
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15. Graph the piecewise function shown below on the

axes provided. Which point below is on the graph?

'3)(‘3 ::--4‘5.756.."l

MM A aexs 3 y [ 400

")
A
L

X £09 =~
Y H 0 ___:_i
N b1,
= 211

16. What is the va'&ue of f ({B)for this piecewise function?

Circle this point on your graph.

v pnk s #6307

BNENSR R

{

)

¥ e

PART IV QUESTION: Answer the question in this part. Show all of your wbrk.l

17. For the function f (x) shown graphed below answer the following questions.
‘ Y

e : 3
State the . Olomn%-"onl fange (-4 -5
Ch- - (S) 1°. (S’z) (g
bhu) - '\003
how d coooow hew._ . pFanae 7
e — Oowne, L | high !

AY

xR

e

Y

18. What values of x solve the equation f(x)= "_‘_‘ ~
Circle points on your graph that justify your solution.

 There age 3 x-values-on )31V
-8 2 H IE

19. Give the intervals over which f (x) is J{.g’ns)qa, 2 and, -t
circle the 'A_ttt!f—p_S_l' ?} sections on the graph.

dar_feas?ﬂa_
, O :'4“50 & A__3' e — = adenva
. ' ' i - ‘ 1 g Jo i ht+
KO X (repot et} (Bt o5) 3 35 Iy
S WX -
7ol (0,3) < 3) 3>
X - /ZB-»

-1

ima

4
R

b

i

X
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PART I QUESTIONS: Show all of your work.

1. Which of the following is the slope of the line that passes through the points ( L’ 6) o.nol( | )

3_(___3 m = :j" Tfj‘ (~¢) - <‘7) -5 e "2 j

s % o [3]
—_—T - ? - -
+54 e 7"“5& X, - X% (-4) - (1 ) S | '_\s;s‘,e

7l

S/Of)& s

"Jh{-Z.
3. A wheel with a. §pecs &C MWM will move 5"0 inches when rolled QD hmes How far will the same
wheel move, to the nearest inch, in ? rolls?

: ff“ % / R S
y'é—ﬂ)CD 9 |23 M= —E:Q?:n%
203 ___—1-———: | per obl
= 20 ou B inches aften I roll's.

4. A 1me with aSIope of -3 passes through the point ('-J -$) . Which of the following is the equation of the line?

)
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. A rental car company charges a base fee of Q S plus @9¢ per mile driven. Which of the foHOng
equations models the charge. j for renting a car based on the number of miles, X, driven?

y= m x + B
Y= 0atx + QS

B
y | N
~!/1/I(‘hn‘r\\}?—rct’.p‘l' (o) a)

! i/
. Which of the following is the equation of the grap own "2 -

i
w_;.m._...p.u

j: mx+ B ..z A
3——l'x+2 < z 7117 > X Slope
© dpenl i - ' '-m Bise/lower
IR S S | N Mt
i L # f W—H:WQ ol
) .

. Charles is making a recipe that calls for 5 quarts of milk, Unfortunately, Charles only has a single cup
measuring device. If there are two cups in a pint and two pints in a quart, then how many cups will Charles
need for 5 quarts of milk? F Y

! W'\' ust  loyan- t—f— — |
S EE, T e
iy eups

LlCUL{JS = , Quﬂﬂ’ l?w%— |?uar'\’ H+4+4+y #+4 = J0

. Which of the following equations describes all pointsona Varficed line that passes through the point (- _"l'J 3)
_ Taors Hhomh x 3
5)/ X = - H
. A sequence i§ definéd by the rule. If f(x)=Yx+2 If £())= L_then what does f( '_l)__:’____ ?

'P(I)=L|(l)+2. f(7)= 4(7)+2
fly.= H4+2 f(7) = 28+

£y 6 [(f) =30
-1S8-
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PART I QUESTIONS: Show all of your work.
10. If graphed in the coordinate plane, would the line y =3y #{, pass through the pomt( 5 ‘))Explam how you

arrived at your answer.
: “)) = 3(—5) ‘P'é )j
e —9 = -5 3(,
-9 = -9 True,
' ( 9) IS a Solutkn and 's on  “Hx me and ~foble
11. An arithmetic sequence has a B”k"" of b anda M termof § Whatisits 3 ~term? Show how you

arrived at your answer, %, $OO
R 4 M=% —
The 3 num B=—t M P ol S
‘\LS 30- ) —_—] q :
N U € ) 3° 2 22 gﬂ
B 7 3
3 | 3e

PART HI QUESTIONS: Show all of your work

12. As a large truck fills its gas tank, the volume of gas, in gallons, can be modeled with the linear function
is the volume of gas and X is the number of minutes it has been filling, Give a physical

IBRTEYANL ) ,Whertg X
interpretation for both the 7.} and § parameters in the linear model. Use appropriate units in your
explanation.

‘Tﬂ\ﬁ Frudk S'[-n(-l-t.() with S&w”orﬁ O‘C aAS
7 l 5A«HEHS o‘p 3&5 ore bum& Pum@uk 'bef‘ m.nu;{t

13. Write the equation of the line that passes through the points (5 E.) and (3 ,B)’:xpress your answer in simplest

y= mx+bform j. Xz *6[7_
j: -.',,X'-f-B
( )==1( ) +8 j’:”"“"fB

(G)=-l(s)+\3 3=-lx+8.

L = 23\ 4B @:—:xm(

Jes \as

W= B | »/éﬂ-—




) 'j:: “]20 + AS3

Unit 4 Stoly ikt N

14. Graph the line'y = -3on the axes provided. LN

) Jl 9%

Hx 3 . —_L’a‘ '
m*’?* ’

_..“.fi.a: ,57;96 X h‘*-ﬂ

15. Use the graph from #14. At what value of y does the ling have
when x =3 Show how you determined your answer.

j—4x-3

-...'-i()B -
R
lj..

PART IV QUESTION: Show all of your work.

16. A company produces boxes of DVD's at a rate of $0boxes per hour, They begin to produce boxes when they
first open for the day and after 4 _hours have §73 boxes in stock. How many boxes were in stock when

)

they opened?
T ymmarg [(4)573) N> 5730 Bly)+B
X O S73= +B
5:805(4'8 . — 32

( ) = 80( )+ B

(53 = B0(u) 4B '—m: B\

17. Use the same company from problem #16. Write a linear model for the amount of boxes, H as a function of

the number of hours since they opened, X Use your model to predict the number of boxes in stock at the end
of § hours of work.

% hoxes - witl bt e {.—ﬂ&

- Qs
5 - 30X'+ 3 Cc:mpﬁwa at e emJ ot

— — . y=%00) +2S3 |
o _._._:-5-=-5?OC‘1) +a53

\‘!'19\?3 é-}'} 1

= 973 |
" e
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WPART T QUESTIONS: Show all of your work.

1. Which of the following is the X-coordinate of the solution to the system shown below?

ol X =13
Ll; =12
&( . =3
> -6

X = 5

2. Theline y= ?ax‘a Is graphed. Graph the other fine y-= -x +6 “Which of the following would be the

XY :
(o

4

y—g@g);dinate of the solution when both lines are graphed?

3'3

3. Which of the following equations would have a solution that is the same as the solution to the system?
' Subsiitete
o Sk g Sy
s 3p=lg o T, Hyt Ty=38
Sx-Bé( = -8 (é 2 ) ) j 2
— ) '.L/((D)+7j= 38 -

Y
a2y = -8 7‘7: ot
Gt oo
4 Is(y, @asolutiontothe system of equations? y=9d%~-1Z — . yz__;j’ x +20
X4 o (e)=styy iz (3)=-3(4) +20
| : = =2 = —]2 + 20
""BD-FQ"QRQWT’M?:: gO') B 3 =20 ! 3
(43) is a sslafien to 3= % 3= 3%
’ True True

~H.,‘5 SyskM.
/ ~ 19A-
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5. The quadratic functions f{x) = -x2 +§.and gx)=3 *x -7 are shown.
fj The positive solutionto f{x)= g(x) is which of the following,

0
[AJr-t‘k a Selution, y&qf
e

6. Which of the following points is a solutlon to the system of inequalities shown graphed below?
‘I“’f"‘“ aod b Lycile o 5o ludion

N
< ‘-_-LX - 2 H :M L~ l
-9 8 L -7> \’:,/"_/
) j Z "3)(4—8 Ts ‘MIS Paénl— 5 / 7 /;,'1-‘\ f\\ 1
e bk shaded 7 PRI
T Y fl y I\" Py ‘:S )
bl and albove ) T RG> 8 |
7. Which of the following is the value of y that solves the system of equations shown below? N M@“jg&_}s
- R . --‘55&6};%-;5_( ys o X
o Sx +(0(7-x):51 J: ;2(3)

Sy + 12 % = S\

17 x = 3! @

=1 =11 (3)(9)




| PART I QUESTIONS: Show all of your work. Kej Unit s S,(aé ﬁu’/e
._w °

9. Find the value of x that solves the system shown below. Show the work that leads to your answer.

("Q?_)"I&B y=3x
¥ Y=30¢)
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10. Graph the system of equations. ym—3x+lf and y=él—x—&
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11, What is the solution to #107? ™
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PART ITT QUESTIONS: Show all of your work. ,_VV |

12. Solve the following system of equations algebraically. for e Solutiva .
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13. Sketch the graph to the system of inequalities shown below. Explain how to shade, \
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15. The Pougbkeegsm Drama Club is selling tickets to an upcoming play. They can sell Sootickets. The aduit
tickets sell for®/D each and student tickets cost {pe_They would like to raise § 3,000 If x represents the
number of adult tickets and y represents the number of student tickets, answer the following,

Write a system of equations that models this situation.
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16. A party is thrown where 0 tables are used. Each table either sits 8 people or 2 people. A total of J79. people

can be sat at the tables. IfE represent the number of * § person tables and T represents the number of 10
person tables, write a system of equations that models this situation.

Er T - a0 3EieT =
bk i o Tl ST DT T st
PP gy persen Y ;; S oy b Ten Ny
Tables - Tables o ﬁef' pefon  per  persen foom
| C‘}jhf- Tobles One Tabes
person fen
o e Jable

- 208-




